20214
o250ty
CHEHS AL K| IAF

gt ul 7 2

m 20
| 2022. 2. 25.(3)
St

| 22&0tstn =& o4

m =22
| 2022. 2. 28.(&) ~ AHTA|
| =30t TSt MR /ALY SH O] X|

https://shiftup.kumoh.ac.kr/innov/sub0302.do

INQuplie
T2 22

I

| == e B |
| FA
|

2t g

=
e
Ministry of Education

NRF) s=2a7q¢ . Z0aM

\

> ~~  Kumoh National Institute of Technology

L

1=

27



Vision

Mission

-85t 1S A|AH O

e %o*a oI 242) R 7%
@ CIOJE 24 Tt me E

O M3t

6 oL olmet Ztst

0 1S OViE QfY
A=

87t
TS B
Ried 5 B2

|2} 25} M
Chet WIS 2igst
RO AT ofgt




Moz 22(1)

g

Z2H
[}

Pﬂ‘
ofr
E
~NO
wr
~
i]g!
&4
i)
ol
i}
=3
[y
5t
<<

%% QRlE

- ADIE 2401

ol
=

12| MBI2(CDN) &=

UN

A
=

A

4

[S}
S

o

AEEF

o ZO HERZ E4t
A

53¢

=1

AHzf It
S ©

=T
= KIT

|

2
—

o

128 = X

IS

A0
Hoo

I.

o
=

=

KITNzZEs SSH 28 = Al

&K T2

= KIT Teaching / Learing KIT Library




o=

duete| Pes Set s &E MD|L

— —

Creative Thinking A[O|Lt

AS 2Oy HE

KITY=UP Z2HE

KITOFSMA T2 HME

TMAIRISS =2 72 “\We Together”
AEMAEIZEAE

CO-Reading ™ 52

AT 2

229 2Iek 0fsieis:
AQH THBHE KIS
Hlmdt D2 720 Hid 7| 228

H|O[HAH|O]A

Al-SIB[0|E] 7|3t
Sl oA

Al 8]HI0|EMIE J1 =2}
SiLH HIOJH SAIZH AL 75
HOHZESEAAY 15 A

HOJE] 7|8t 1S =X
BRI} A 712 19

TPl 18 Q7ALE 7

SYSHFTEIALY




2021 231t
CH et MK EHA L
i - J|EH BA IR 22

e

- DIRHQITR} K7 | O Y K|
3| 201 X/2
T 2 A X2

- DJHSITA} Bt
D[RR =2
- 0|AT7AL O3S X/®d
- 7|Qjei Z2HE ¢<.zl x|
- D[RR F MY

DjRhotTR O o et

o O

- I YRISE T2
e St | ZOIXIS

KL
o
>
11

D
Kl
>
o
I
»“ﬂ
L2

H0 >
I‘Q
0|>1 5
-

4

40
BN

At 'H+E =N,
PRI7H T K RHOF

E Bz
0© #o — 4@

kI
Ho fO
=




O BIEL: 4.48%

7t

=
o

43

019} 826HOZ HUALHH| 189%
AT & 45| 2% — 2021

PN
=

O &L 4,361
o
O 2020gt

O




(W=t 2Ab]

A0 O] B} E| 11 &= =}

| &e| MH|IAS HIS

O z|tf 24A|1Z4 16GB H22]|9] i |A XA
O 4oE &tz &E= #5010 I'l_ 28 M

= Jupyterhub. ror :jllpytcr Unfilled L recipar 522 (e chage

Server Options A o Gl N

@ e Jupyter notebook stack for Tansorfiewd and PyToreh B Ok 44 bR BC W
ensariow?  orch 1.7.1/ pyihoné fcudati 0

Tha upyir otk Sk e Wemmw and PyTorch
. .

Tn [1]: inport tensorflow as tf

— =] 1 21 et s i dvicw 1)

2] [PhysicalDevice(nanes' /physical_device:GPU:0’, device types'GRU')]

Z Jupyterhub Home  passuors

Jupyter SHZ0[ YHF LT, o

(AT 7|CR FAINR,) v IRYE

[Chrome0] 2|53} £/0f Ql&LIct]
|

2021-04-03711:34:45.3454692 [Waming) 0133 nodes are available: 33 pod has unbound immediate ParsistentViolumeCiaims.

Eventlog

7%
(6% 29470 ofUAY 1S Haa ¥E)

Af1o] @44

O AIEIH[0]

H
MNEote S

MEOIN HREQ! ZH|QI DGX MW Q] IE3HE Sdf 2
of M MLz Vs d=0 70




| Q&AL

mES

|

|
=i
i
=]
al
—
0
ar
-
N

| 3. 4% 247

= O T
o o o =
Ho__
o &

0t
s S uloie <k

@ .

9.6.~11. 26.
211, 28.
155(89F)

A9l 15601 7
600,000

=
=
=1

2|

72t
(o]

ST
=3

- MFH
StEE]| -
=20 0O -
PN

Kl BT PR T
NUoH KIS

102 014
HIM HE

=
- S
=
S

SIRIERIZ)
TR DEHE)

Sk
ol

Gl
!
o

4 B B R E(
CAT(

)

=
o

W 0HE E (MAfS|2)

A XHU= ASEHE
", 601SHE 27121

6. &5 AT




(o]
[ |

1 S(2020H 43t= — 20214 711H=)

O
A

olo
0
o
of
=
<
S
K
=
<
KO
i
S

Che| o

=
=

O 7Hd nit=E0| gxpHdo =z




SAH]
eaching / Learning KIT Library

ArEIHL

|8t KIT Teaching / Teaching Tool KIT X2

AESE

O KIT Teaching KITS| H&C= H|CHH A|ICHE CHH| S
O KIT Teaching Tool KITQ HZXOZ AMANRAES ¢

KIT Teaching KIT 3 KIT Teaching Tool KIT

bl WA T

KIT Tﬂl:hlng Tood Kit

@

<

B il

O (HL)w L FM(wH, AU
O (HRDKIT Teaching KIT CHL| X}
SHMOf| 710




O HI0IH 7|gtef 1
O H0lH &4 &

=

O 22| HHBI0IA MAEIE HlO|ES ZR%
l0E| EYS 75

O 22 HfEfel HOIE(E SNHO2 44, 22
S 2071 57) SlaH TR HA Choh 275101
g SHO| 7/0

5t GlOJE| ZE 2R 7|4t O}

o

A (EHQI/O*LH H| 1)
=3t (Bl =12 &2
7tNE 7ks) MIS

I

O
O
O
O

=

sy
o

.
2t
21

o
T

re
ol

r

EfolE]

Dash Board g2 Z(Note Book)

SATE SUREKPD IEERIETEDE

£ 3

SHfE YR R(KPI)

2t £/ Data ‘41 e

21812 RSt/ Sa8

O &Y =Q H|0|E{(H|0|E{H]O|A, llAl G FUEShIRE/ V=B =




Communication Power Up 197|

Communication Power Up PLUS 97|

O YAl 2021. 3. 23.(81) ~ 4. 15.(2)
(0H== 3}, =) 18:00~20:00

O YLAl: 2021. 5. 4.(3}) ~ 5. 27.(5)
(Oh== &, £) 18:00~20:00

O O Xt

O FHOXL £ 118

O P&k bH

Communication Power Up 207|

Communication Power Up PLUS 107|

O UAJ: 2021. 9. 28.(3D) ~ 10. 21.(2)
(4= &}, =) 16:00~18:00

O CHAS: THSHA

O 04Xt =: 9H

O otEE: 4849

O YA 2021. 11, 2.(8h) ~ 11. 25.(=)
(0H= &t =) 16:00~18:00

O O R

O TOAt = 78

O =L 49H




D4 A
HEHT|AAE 2F A=}

ArEIHL

O QIR TR0 T2 S 017 A0l T2 ot ool Hakz 712
AN AY 25

AE=E

AXC=Z o, 2t A =08 it

naEiE BISKit
S

‘v s :‘.' :

P a

FISTEY

. AS: 710|=5 1,0007 AX, 2|ER 1,500%, LEC| 1,0005 A%

4. A SZRITHET (2021 A4 CHA)

QIXH4l : Global - ICON

. EN:31 /AS39/%034/ZH35/8Y38 (58 A5




=
==

| HE=X H2k 7
3

A

t

=] (e}

O
M
=

=

E= 74

to4Stat 7H O|4C 2 07 2™

9|(2021. 3.)

=]
=]
At A AA™S M0 Tt

- 2020 A
-2

ﬂ
80
OH
K
0
od
g
Ho
<d
<
o)
o

Ol
10J
Ho
I
ilof
B
OF
|
=
In
__Oﬁ
O

O (20| LRI AATS) HE




S
2

=
o
| =
oS

3

, A
s Set A R 1

S
A

o
=
—

=

El H)
. FXpIEL DRHEE AT

MR IE, T2 HH
il]ll_|-

=
:l;-

=
=
:l;

(2d) #
, A
(1) #

(14) 74N Z=HE

: 53,0087 ¢

Al

=
Al
=

=
%0
=
o
oF
<H
&0
or
E
=]

M

T B 20
x

T b E2
Al
o H H5H(704) VM MAWE, Z2HE, ZFE, 00|12

Of| &
- 48 0t 357,282




U2 K|

=E =
= =

=

LY Xt2 HIx X

E —_—L =
= o°|:||-°|_|-o|_

=

O B2:11,2008 XM=

=
o

SPMRLR| R 2 SO0t2) A7)

=4 HME]

F

[KIT &f
At

Ef:

ZLE HXLE

IS5
3,

> XH
S =

O M%f

| 24 336p / 1,3208 KX

F O

EEC

I.

<)
=

O KIT




| SAbd]

=% PN
=1 L

(217

St
ol

2
4 926,650

H

4: 1,001,692

o
-
[

Al

A

o
p=2
[

M|

&

(

)

o
2
[

.I

X
()

|74 75,042
71507,472%4,

=l

l,

-

S

o

-1

3

=
of

H

=R

.i

71 494,220

&t
O 72322 0N H

2

7] 1954,
712129

l,
7120974
71 2574

=]
ol

1

=
= .

b

-

[s)

2

St
ol

AR AH:

b

=

[S)

2

0
S
=
=
=1
a0
il
o
K
¢
o
o

X0 H2)

&70), 118(2&71)

C5E(

A7

(o]
=2
[ -

RN

1 = AI0 710

isto R Alg)

104 F312S X

I |

=1 X
= |

Ao S

b

(<)
=

A




oA 2778, & 3,318H(0A)

| QA1

=0
R
K
=]
LU}
0
=3
.
<M
M-
5

=% PN
=1 L

O 2%7I7k 20214 38 ~ 2022 28 (37 3)
Aofol9):

[S+L
0
0




=]
2]
=]
=13
o

7|: 48, 9,019%¢ X|
X

L= PN
.I

, 18,982%

al
YoM O = At

=
==

A
8
7|: 48, 9,963
=]

3
— 18t
— 03t

A0S, MO
HIZO = 7|CA &=
=

5tz ¢
SR E|CH 2,500 X

201 0|&F 501 0]

| Q4AL]

=

=% PN
=1 L

O FHEE: 7[HH =LA

O Ol X|

(S




2 A

|

=

=
B0
OH
=
110

%0
bl
ol
il
_’_

H
=l

S
(DN

0
o0
=
ol

of 3 @4 QX g0 71¢

71¢+:2021. 6. ~ 2022. 2.

P D2 2117 T2 )

AEHS
(i hd]

1

(@7t A=

=
[S)

WIU / PBL 22 xj2H|
49z, 2tO|HIA HH|

o X2

A I(WIU/PBL) A

=

| H=2H| X|

sl
|41 S/WIS X

s
s

=

e

IAb7|& WS /MI0|Lt

YES]

o mz e

& x|




